INTERMEDIATE LESSON 5: Quiz

NZBridge

Competing over Opponents 1NT Opener

1. What is your bid after the opposition open 1INT ?

(a)
A J10843
v AJ85
¢ 76
* A6

(b)
A J6
v A9
¢+ 973
& AQJ643

(c)
A KQ6
v AJ854
¢ 973
% J8

(d)
A AG
v AQ8632
¢ AK
% 976

2. What is your bid after the following auction: 1NT — (X) — Pass — ?

(@)
A KQ5
v 8432
762
% J75

(b)
A JT843
v 843
¢ 762
% Q6

(c)
A Q763
v QJ42
¢ 843
% 96

(d)
A QJT84
v8
¢ K843
% 972

3. What is your bid after the following auction: 1NT - (2&) - Pass - ?

(a)
A J742
v 96
+ KQ853
* 63

(b)
A J76
v AK4
¢ 96
% J9763

(c)
a7
v 84
¢+ KQ84
% J87643

2& = both majors

(d)
A 96
v AKJ6
¢+ K83
% T973
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4. What is your bid after the following auction: 1INT —(2%) — Pass —?

(a) (b) (c) (d)
a A9763 a K874 A KQB863 A A6
v K84 v A6 v- v 94
¢+ QJ64 + KJ9 ¢ JT96 ¢+ J9
&3 & QT84 % T974 & KQJ8643
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INTERMEDIATE LESSON 5: Quiz
ANSWERS

NZBridge

Competing over Opponents 1NT Opener

1. What is your bid after the opposition open 1INT ?

(a) (b) (c) (d)
A J10843 A J6 a KQ6 A A6
v AJ85 v A9 v AJ854 v AQ8632
¢ 76 ¢ 973 ¢ 973 ¢ AK
* A6 » AQJ643 * J8 * 976

2% 3 Pass X
Showing both Natural Not good enough Showing 16+

majors to overcall points first

2. What is your bid after the following auction: 1NT — (X) — Pass — ?

() (b) (c) (d)
a KQ5 » JT843 4 Q763 A QJT84
v 8432 v 843 v QJ42 v8
¢ 762 ¢ 762 ¢ 843 ¢ K843
& J75 * Q6 * 96 & 972
_Pass 24 Pass Pass
5+ HCP Weak 0-5 HCP 5+ HCP 5+ HCP

3. What is your bid after the following auction: 1NT - (2&) — Pass - ?
2 = both majors

(@) (b) (c) (d)
A J742 A J76 a7 A 96
v 96 v AK4 v 84 v AKJ6
¢+ KQ853 ¢+ 96 ¢+ KQ84 ¢+ K83
% 63 % J9763 &% J87643 % T973
___________ 26 2e Pass 3
Preference Majors equal length Best chance of a fit Invitational
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4. What is your bid after the following auction: 1NT — (2%) — Pass —?

(a) (b) (c) (d)
a A9763 a K874 A KQB863 A A6
v K84 v A6 v - v 94
¢+ QJ64 ¢+ KJ9 ¢ JT96 ¢+ J9
& 3 % QT84 % T974 & KQJ8643
4 2NT Pass 3%
Game values Invitational Misfit One round force
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